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weapons (lower cost and maintained security) to the one in which they both increased their 
nuclear weapons (higher cost and no increased security). If you write out the preference 
orderings for the United States and the Soviet Union in this Nuclear Arms Race Game, you 
will see that they have the same basic structure as the preference orderings in the Prisoner’s 
Dilemma Game. We illustrate the payoff table for the Nuclear Arms Race Game in 
Figure  4.11. The Nash equilibrium is (Continue Buildup; Continue Buildup), and the 
expected outcome is a nuclear arms race.

Problems

The problems that follow address some of the more important concepts and methods introduced 
in this chapter.

States and Failed States

1.	A state is an entity that uses coercion and the threat of force to rule in a given territory. 
Choose a country that you know reasonably well. To what extent does a state exist in this 
country? Is the state able to coerce or successfully control the inhabitants in its territory? 
Explain your answers.

2.	Go to The Fund for Peace website at http://fsi.fundforpeace.org/ and examine the latest 
Fragile States Index data and map. Choose four countries, one from each of the four 

Nuclear Arms Race Game as a Prisoner’s Dilemma GameFigure  4.11

Note: The United States’ (the row player’s) payoffs are shown first in each cell; the Soviet Union’s (the column 
player’s) payoffs are shown second. A comma separates the payoffs for the players in each cell. Payoffs associated 
with the best replies of the United States are underlined. Payoffs associated with the best replies for the Soviet 
Union are circled.

Soviet Union

Reduce Arms Continue Buildup

United States

Reduce Arms 3, 3 1, 4

Continue Buildup 4, 1 2, 2


